DRQ/CSQ Q3A- Cost of Production

Table 1: UK Beer (including Lager) Production 1950-85
	Year
	Total Production (million bulk barrels)
	Brewery Companies
	Average Output per plant (thousand bulk barriers)

	
	No. of firms
	No. of plants
	

	1950
	24.9
	360
	560
	44

	1955
	24.5
	320
	460
	53

	1960
	26.1
	247
	358
	73

	1965
	29.9
	180
	274
	109

	1970
	34.4
	96
	177
	194

	1975
	39.2
	82
	147
	267

	1980
	38.9
	80
	145
	268

	1985
	36.2
	68
	117
	312


Table 2: The Principle Brewery Companies in 1985

	Firm
	Production (million bulk barrels)
	% UK production

	Bass
	7.7
	21.0

	Allied-Lyons
	4.9
	13.5

	Whitbread
	4.4
	12.0

	Grand Metropolitan
	4.0
	11.0

	Scottish and Newcastle
	3.7
	10.0

	Courage
	3.3
	9.0


a i.
What is the difference between a firm and a plant?


       [1]

   ii.
What evidence from Table 1 suggests that there have been mergers and 
acquisitions in the brewing industry?




       [2]

b i.
In Table 1, what evidence is there that technological economies of scale 
may have been gained by brewing companies?



       [2]

ii. Identify and explain another type of economy of scale which might apply to 
the brewing industry. 






       [2]

c i.
Describe the trend in the production of beer from 1950 to 1985.
       [1]

 ii.
Identify and explain two demand factors that might account for this 

         trend.









       [2]

Answer

a i.
What is the difference between a firm and a plant?


       [1]

ai) A firm is an organization that organizes the activities for the production of goods while a plant is the production unit that produces the goods, usually seen in term of a factory

   ii.
What evidence from Table 1 suggests that there have been mergers and acquisitions in the brewing industry?




       [2]

aii) As seen from table 1, the total production has increased from 1955 to 1975 and a slight decrease from 1975 to 1985 while the number of firms and plants had decreased extensively from 1950 to 1985 from 360 firms to 68 firms and 560 plants to 117 plants. Besides this, the increase in average output per plant also reflects the gain in productivity due to economies of scale as a result of the increase in size of production due to the mergers of firms.
b i.
In Table 1, what evidence is there that technological economies of scale 
may have been gained by brewing companies?



       [2]

bi) The evidence can be seen from increase in average output per plant from 44 thousand bulk barriers per plant to 312 thousand bulk barriers per plant. This increase in productivity per plant is only possible if the efficiency of production of the plant has increased due to better machinery and production process such as division of labour.
Commercial EOS – bulk buying to crease cost of production/ commercial advertising – increase market demand

bii) Another source of economies of scale can be seen from commercial economies of scale whereby he productivity is seen in the cost saving of bulk buying. When the brewing firm buys in bulk for its resources such as wheat, it can attain at a lower price per unit which will make the total cost of production to increase at decreasing rate and thus, lower the average cost of production.

ci) From 1950 to 1955, the production has decreased but it increases at an increasing rate from 1955 to 1975. From 1975 onwards, it decreases at decreasing rate.

(direction of change – increase or decrease/ rate of change – increasing or decreasing rate)
cii) One of the main reason for the trend is the change in income. After World War II, the peace and prosperity brought about greater increase in national income and thus, increase in disposable income. This raises the purchasing power of the individuals, leading to higher demand for luxury items such as beer drinking and thus, the increase in production. Though the preference for beer drinking as a social activity continues, the greater concern for health contributes to the decrease in demand which leads to the decrease in production.
